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ÿoˆÁTˆEı YÁPˆy‘] ◊`l˘Á[˝bÔÁ‹ôˆ YÃ[˝›l˘Á 

 ( BDP Term End Examination ) 

◊Qˆ„a∂ëˆÃ[˝, 2017 C L«X, 2018 (December-2017 & June-2018) 

ac˜ÁÃ^Eı YÁPˆy‘] ( Subsidiary Course ) 

YVÁUÔ◊[˝VÓÁ ( Physics ) 
ªª◊•Tˆ›Ã^ Yy ( 2nd Paper ) 

Physics-II : SPH-II 
a]Ã^  f ◊TˆX H∞RÙOÁ ( Time : 3 Hours ) 

Y…SÔ]ÁX  f 100 (Full Marks : 100) 

]Á„XÃ[˝ mÃ[˝”±ºˆ  f 70%  (Weightage of Marks : 70%) 

Y◊Ã[˝◊]Tˆ C ^UÁ^U =w¯„Ã[˝Ã[˝ LXÓ ◊[˝„`b ]…_Ó ÂVCÃ^Á c˜„[˝* 
%£à˘ [˝ÁXÁX, %Y◊Ã[˝¨K˜~TˆÁ A[˝e %Y◊Ã[˝õıÁÃ[˝ c˜ÿôˆÁl˘„Ã[˝Ã[˝ Âl˘‰y X∂ëˆÃ[˝ 

ÂEı‰ªRÙO ÂXCÃ^Á c˜„[˝* =YÁ„‹ôˆ Y“‰`¬Ã[˝ ]…_Ó]ÁX a…◊ªJÙTˆ %Á‰ªK˜* 
Special credit will be given for precise and correct 

answer. Marks will be deducted for spelling mistakes, 
untidiness and illegible handwriting. The figures in the 

margin indicate full marks. 
 
 
1* Â^-ÂEıÁ„XÁ V«◊ªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX  f 20 × 2 = 40 

Eı) i) %Á„_ÁEı TˆÃ[˝„ÜÃ[˝ %G–G]X aey‘Á‹ôˆ c˜Ác˜O„GXaÀ-AÃ[˝ 

X›◊Tˆ ◊[˝[˝ Tˆ EıÃ[˝”X * Ac˜O X›◊TˆÃ[˝ aÁc˜Á„^Ó 

%Á„_Á„EıÃ[˝ Y“◊TˆZı_„XÃ[˝ a…ym◊_ Y“◊TˆúˆÁ EıÃ[˝”X * 

   2 + 4 

 ii) ◊X=ªRÙO„XÃ[˝ [˝_Ã^ YÃ[˝›l˘Á [˝Ó[˝ÿöˆÁÃ^ m-Tˆ] %V›ä 

[˝_„Ã̂ Ã[˝ [˝ÓÁa 8 mm A[˝e ( m + 5 )-Tˆ] %V›ä 

[˝_„Ã^Ã[˝ [˝ÓÁa 12 mm * ^◊V Â_≥a◊ªRÙOÃ[˝ ◊X‰∂oˆÃ[˝ 

Tˆ„_Ã[˝ [˝y‘TˆÁ [˝ÓÁaÁW˝Ô 10 m c Ã̃̂ , TˆÁc˜„_ [˝Ó[˝c˜÷Tˆ 

%Á„_ÁÃ[˝ TˆÃ[˝ÜÍVHÔÓ ◊XSÔÃ^ EıÃ[˝”X * 4 

 iii) c˜OÃ^e-AÃ[˝ ◊•-„Ã[˝FÁ◊ªK˜V– YÃ[˝›l˘ÁÃ^ [˝Ó◊TˆªJÙÁÃ[˝ MıÁ_„Ã[˝Ã[˝ 

Y“ÿöˆ ◊XSÔÃ^ EıÃ[˝”X * 6 

 iv) c˜OÃ^e ◊•-„Ã[˝FÁ◊ªK˜V– YÃ[˝›l˘ÁÃ^ [˝Ó[˝c˜÷Tˆ a«a∂ëˆà˘ 

%Á„_ÁEı =da V«◊ªRÙOÃ[˝ Tˆ›[˝–TˆÁÃ[˝ %X«YÁTˆ n * 

MıÁ_„Ã[˝Ã[˝ ªJÙÃ[˝] C %[˝] Tˆ›[˝–TˆÁÃ[˝ %X«YÁTˆ ◊XSÔÃ^ 

EıÃ[˝”X * 4 

F) i) a]◊[˝\ˆ[˝ Tˆ_ [˝_„Tˆ Eı› Â[˝ÁMıÁÃ^ ? a]◊[˝\ˆ[˝ 

Tˆ„_Ã[˝ È[˝◊`rÙÓ ◊_F«X * 2 + 3 

 ii) Tˆ◊QÕˆd ◊•„]Ã[˝”Ã[˝ _∂ëˆ a]◊•Fâ¯„EıÃ[˝ =Y◊Ã[˝◊ÿöˆTˆ 

ÂEıÁ„XÁ ◊[˝≥V«„Tˆ Tˆ◊QÕˆd„l˘y Y“Á[˝„_ÓÃ[˝ Ã[˝Á◊`]Á_Á 

◊XSÔÃ^ EıÃ[˝”X * 6 

 iii) ◊ÿöˆÃ[˝ Tˆ◊QÕˆd •ÁÃ[˝Á =dY~ ÊªJÙÏ∂ëˆEı„l˘y aey‘Á‹ôˆ 

[˝Á„Ã^Á-aÁ\ˆÁªRÙO¤ a…y◊ªRÙO ◊[˝[˝ Tˆ EıÃ[˝”X * [˝Á„Ã^Á-aÁ\ˆÁªRÙO¤ 

a…y◊ªRÙO [˝Ó[˝c˜ÁÃ[˝ Eı„Ã[˝ AEı◊ªRÙO [˝ w¯ÁEıÁÃ[˝ Y◊Ã[˝[˝Ác˜›Ã[˝ 

%„l˘Ã[˝ CYÃ[˝ ÊªJÙÏ∂ëˆEı„l˘‰yÃ[˝ Ã[˝Á◊`]Á_Á ◊XSÔÃ^ 

EıÃ[˝”X * 3 + 6 
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G) i) Ê`“◊S a][˝Á„Ã^ ^«N˛ AEı◊ªRÙO ÂÃ[˝ÁW˝ R A[˝e AEı◊ªRÙO 

W˝ÁÃ[˝Eı C ÂEı AEı◊ªRÙO E Tˆ◊QÕˆdªJÙÁ_Eı [˝_^«N˛ Tˆ◊QÕˆd 

ÂEıÁ„bÃ[˝ a„Ü ^«N˛ EıÃ[˝Á c˜_ * [˝Tˆ¤X›„Tˆ Y“[˝Ác˜- 

]ÁyÁÃ[˝ Ã[˝Á◊`]Á_Á ◊XSÔÃ^ EıÃ[˝”X * 6 

 ii) CÃ^ÁªRÙO◊[˝c˜›X Y“[˝Ác˜]ÁyÁ Eı› ? ÊªJÙÁEı EıÁ„Eı [˝„_ ? 

   2 + 2 

 iii) ÂVFÁX Â^, %ÜÁÜ›\ˆÁ„[˝ L◊QÕˆTˆ V«◊ªRÙO a◊_XÃ^„QˆÃ[˝ 

YÁÃ[˝&◊Ã[˝Eı %Á„[˝`Á·¯  M =  21 LL  ;  

Â^FÁ„X 1L A[˝e 2L  ^UÁy‘„] a◊_X„Ã^Qˆ V«◊ªRÙOÃ[˝ 

ÿëˆÁ„[˝`Á·¯ * 6 

 iv) ÂVFÁX Â^ VVrms > , Â^FÁ„X rmsV  A[˝e V  

^UÁy‘„] Y◊Ã[˝[˝Tˆfi Â\ˆÁ‰∑RÙO„LÃ[˝ GQÕˆ [˝„GÔÃ[˝ [˝GÔ]…_ 

]ÁX C GQÕˆ ]ÁX * 4 

H) i) %Á„_ÁEıTˆ◊QÕˆd ◊y‘Ã^ÁÃ^ %Ác˜OX∫RÙOÁc˜O„XÃ[˝ ÿëˆ›EıÁ^Ô 

◊_F«X * ÂÃ[˝FÁ◊ªJÙ‰yÃ[˝ ]ÁW˝Ó„] %Ác˜OX∫RÙOÁc˜O„XÃ[˝ 

%Á„_ÁEıTˆ◊QÕˆd ◊y‘Ã^Á Y“EıÁ` EıÃ[˝”X * 2 + 3 

 ii) ◊X[˝ ◊Tˆ ◊[˝\ˆ[˝ [˝Á ÊªK˜VEı ◊[˝\ˆ[˝ [˝_„Tˆ Eı› Â[˝Á„MıX ? 

127°C =b’TˆÁÃ^ ◊X=ÆœÙ„XÃ[˝ ◊Qˆ-[˝–G◊_Ã[˝ TˆÃ[˝ÜÍVHÔÓ 

◊XSÔÃ^ EıÃ[˝”X * ÂVCÃ^Á %Á‰ªK˜, Â[˝Á_L]ÓÁX W˝–”[˝Eı 

K = 1·38 × 10 23− JK 1−  ;  Y¿ÓÁ·¯ W˝–”[˝Eı   

h = 6·62 × 10 34− Js ;  ◊X=ÆœÙ„XÃ[˝ \ Ã̂[˝     

m = 1·66 × 10 27− kg.  2 + 3 

 iii) ◊X=◊zıÃ^ ae„^ÁLX C ◊X=◊zıÃ^ ◊[˝„Ã^ÁL„XÃ[˝ ]„W˝Ó 

YÁUÔEıÓ ◊_F«X * 4 

 iv) ◊[˝„`b %Á„Y◊l˘EıTˆÁ[˝Á„VÃ[˝ aÁ„Y„l˘ Â[˝G 

ae„^ÁLX a…y◊ªRÙO Y“◊TˆúˆÁ EıÃ[˝”X * 6 

2* Â^-ÂEıÁ„XÁ ◊TˆX◊ªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX  f 12 × 3 = 36 

Eı) i) [˝–”∫RÙOÁ„Ã[˝Ã[˝ a…y◊ªRÙO ◊_F«X * Y“]ÁS EıÃ[˝”X Y“◊TˆZı◊_Tˆ 

Ã[˝◊`Ω C Y“◊Tˆa Tˆ Ã[˝◊`ΩÃ[˝ ]W˝Ó[˝Tˆfi ÂEıÁS 90° c˜Ã^ * 

   2 + 2 

 ii) W˝XÁ±¡Eı ÂEı_Áa C @SÁ±¡Eı ÂEı_Áa EıÁ„Eı [˝„_ ? 

   2 + 2 

 iii) %Á„_ÁÃ[˝ %Y[˝Tˆ¤X C a][˝Tˆ¤X [˝_„Tˆ Eı› 

Â[˝Á„MıX ? 2 + 2 

F) i) W˝ÁÃ[˝„EıÃ[˝ W˝ÁÃ[˝Eı±ºˆ EıÁ„Eı [˝„_ ? AEı◊ªRÙO ÂGÁ_›Ã^ 

W˝ÁÃ[˝„EıÃ[˝ %\ˆÓ‹ôˆÃ[˝ÿöˆ ÂGÁ_Eı \…ˆ◊] ae_G¬ * 

W˝ÁÃ[˝Eı◊ªRÙOÃ[˝ W˝ÁÃ[˝Eı„±ºˆÃ[˝ Ã[˝Á◊`]Á_Á ◊XSÔÃ^ EıÃ[˝”X *  

   2 + 4 

 ii) EıÁÃ[˝`„ZıÃ[˝ Y“[˝Ác˜ C Â\ˆÁ‰∑RÙOL a…yV«◊ªRÙO ◊[˝[˝ Tˆ C 

[˝ÓÁFÓÁ EıÃ[˝”X * 3 + 3 

G) i) ◊ªJÙy C [˝Tˆ¤X›ac˜ aÁW˝ÁÃ[˝S ◊[˝◊EıÃ[˝Eı ◊[˝XÓÁ„aÃ[˝    

n-p-n ÆœÙÁ≥a◊L∫RÙOÁ„Ã[˝Ã[˝ EıÁ^ÔX›◊Tˆ C È[˝◊`rÙÓ 

%Á„_ÁªJÙXÁ EıÃ[˝”X * 6 + 4 
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 ii) X›‰ªJÙÃ[˝ [˝«_›Ã^ Ã[˝Á◊`◊ªRÙO aÃ[˝_ EıÃ[˝”X f 2 

   BBABA )( +++  

H) i) X›‰ªJÙÃ[˝ [˝«◊_Ã^ÁX Ã[˝Á◊`]Á_Ám◊_ Y“]ÁS EıÃ[˝”X f 

  1. A ( A + B ) = A ; 

  2. 1=++ ABAAB  ; 

  3. BBABA =+++ . 2 + 2 + 2 

 ii) X›‰ªJÙÃ[˝ _◊LEı [˝Tˆ¤X›Ã[˝ aTˆÓaÁÃ[˝S› ◊_F«X f 2 

 

 iii) W˝ÁÃ[˝Eı„±ºˆÃ[˝ ]ÁyÁ ◊_F«X * AEı◊ªRÙO LR [˝Tˆ¤X›Ã[˝ l˘]TˆÁ 

mSEı 
2
1  * Y◊Ã[˝[˝Tˆfi Y“[˝Á„c˜Ã[˝ Eı+Á·¯ ◊•mS 

EıÃ[˝Á c˜„_ l˘]TˆÁ mSEı EıTˆ c˜„[˝ ?  1 + 3 

I¯) i) %◊X∏JÙÃ^TˆÁ X›◊TˆÃ[˝ aÁc˜Á„^Ó ÂVFÁX Â^ c˜O„_EıÆœÙX 

◊X=◊zıÃ^Á„aÃ[˝ ]„W˝Ó UÁEı„Tˆ YÁ„Ã[˝ XÁ * 6 

 ii) Â[˝Á„Ã[˝Ã[˝ c˜Ác˜O‰QŒˆÁ„LX YÃ[˝]ÁS«Ã[˝ Tˆ√º¯◊ªRÙO [˝ÓÁFÓÁ 

EıÃ[˝”X * ◊[˝◊\ˆ~ ÂÃ[˝FÁ [˝SÔÁ_›Ã[˝ Ê`“◊Sm◊_Ã[˝ 

TˆÃ[˝ÜÍV„HÔÓÃ[˝ Ã[˝Á◊`]Á_Á ◊_F«X * 2 + 4 

ªJÙ) i) p-n ae„^ÁG QˆÁ„Ã^Á„QˆÃ[˝ a∂ˆÇ«F C ◊[˝YÃ[˝›Tˆ 

[˝ÁÃ^Á„aÃ[˝ Âl˘‰y È[˝◊`rÙÓ Â_F %·¯X EıÃ[˝”X * 3 

 ii) X›‰ªJÙÃ[˝ ◊X=zı›Ã^ a]›EıÃ[˝Sm◊_ a+…SÔ EıÃ[˝”X * 3 

   ?PHeAl 30
15

4
2

27
13 +→+  

   ?OHeN 17
8

4
2

14
7 +→+  

 iii) Ã[˝ÁVÁÃ[˝„ZıÁQÔˆ ]„Qˆ„_Ã[˝ y”◊ªRÙOm◊_ ◊_F«X * X-Ã[˝◊`ΩÃ[˝ 

[˝SÔÁ◊_Ã[˝ TˆÃ[˝ÜÍVHÔÓ C Tˆ›[˝–TˆÁ a+◊EÔıTˆ ÂÃ[˝FÁ◊ªJÙy 

%·¯X EıÃ[˝”X * 3 + 3 

3* Â^-ÂEıÁ„XÁ ªJÙÁÃ[˝◊ªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX  f 6 × 4 = 24 

Eı) 100 eV  G◊Tˆ`◊N˛Ã[˝ c˜O„_EıÆœÙ„XÃ[˝ ◊Qˆ-[˝–G◊_Ã[˝ TˆÃ[˝ÜÍVHÔÓ 

EıTˆ ? Â[˝Á„Ã[˝Ã[˝ Y◊Ã[˝Y…Ã[˝EıTˆÁÃ[˝ X›◊Tˆ◊ªRÙO %Á„_ÁªJÙXÁ EıÃ[˝”X * 

  3 + 3 

F) ◊X=ªRÙO„XÃ[˝ G◊Tˆ a…ym◊_Ã[˝ aXÁTˆX [˝Á GÓÁ◊_◊_„Ã^Á Ã[˝÷YÁ‹ôˆÃ[˝ 

EıÃ[˝”X * 2 + 2 + 2 

G) %Á„_ÁEıTˆ◊QÕˆd ◊y‘Ã^Á ÂEıÁÃ^Á≥RÙOÁ] Tˆ„√º¯Ã[˝ aÁc˜Á„^Ó Eı›\ˆÁ„[˝ 

[˝ÓÁFÓÁ EıÃ[˝Á ^ÁÃ^ ? 6 

H) ÂEı[˝_]Áy NAND ÂGªRÙO [˝Ó[˝c˜ÁÃ[˝ Eı„Ã[˝ Eı›\ˆÁ„[˝ AND ÂGªRÙO 

ÈTˆÃ[˝› EıÃ[˝„[˝X ? ◊Qˆ-[˝–G◊_Ã[˝ Y“Eıî◊ªRÙO %Á„_ÁªJÙXÁ EıÃ[˝”X * 

  3 + 3 
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I¯) AEı◊ªRÙO Y◊Ã[˝[˝Tˆfi Y“[˝Á„c˜Ã[˝ LXÓ  

 E = 220 sin ( 200 
4
π

−πt  ) Â\ˆÁ∑RÙO * AFX 

Y◊Ã[˝[˝Tˆfi Tˆ◊QÕˆdªJÙÁ_Eı [˝„_Ã[˝ Eı+Á·¯, Â\ˆÁ‰∑RÙO„LÃ[˝ `›bÔ]ÁX 

C Â\ˆÁ‰∑RÙO„LÃ[˝ [˝GÔ]…„_Ã[˝ GQÕˆ [˝GÔ ]ÁX ◊XSÔÃ^ EıÃ[˝”X * 

  2 + 2 + 2 

ªJÙ) a«a∂ëˆà˘ %Á„_ÁÃ[˝ =da EıÁ„Eı [˝„_ ? c˜OÃ^e ◊•-„Ã[˝FÁ◊ªK˜V– 

YÃ[˝›l˘ÁÃ^ AEı[˝Sfi %Á„_ÁÃ[˝ Y◊Ã[˝[˝„Tˆ¤ aÁVÁ %Á„_Á [˝Ó[˝c˜ÁÃ[˝ 

EıÃ[˝„_ [˝ÓÁ◊TˆªJÙÁÃ[˝ MıÁ_„Ã[˝Ã[˝ Eı›Ã[˝÷Y Y◊Ã[˝[˝Tˆ¤X c˜Ã^ ? 2 + 4 

ªK˜) ÂTˆL◊ïòıÃ^ X]«XÁÃ[˝ %W˝Ô-L›[˝X EıÁ_ [˝_„Tˆ ◊Eı Â[˝Á„MıX ? 

ÂTˆL◊ïòıÃ^ X]«XÁÃ[˝ %W˝Ô-L›[˝X EıÁ_ C \ˆÁI¯X W˝–”[˝„EıÃ[˝ ]„W˝Ó 

a+EÔı Y“◊TˆúˆÁ EıÃ[˝”X * 2 + 4 

L) ◊[˝_∂ëˆX EıÁ„Eı [˝„_ ? %Ã^‰∏JÙÏ∂ëˆEı YVÁ„UÔÃ[˝ ◊[˝_∂ëˆX ªJÙy‘ 

[˝ÓÁFÓÁ EıÃ[˝”X * 2 + 4 

 

( English Version ) 

 

1. Answer any two questions : 20 × 2 = 40 

a) i) State Huygens principle regarding 

propagation of light. Using this 

principle establish laws of reflection. 

   2 + 4 

 ii) In Newton’s ring experiment, the 

diameter of m-th dark ring is 8 mm 

and the diameter of ( m + 5 )-th dark 

ring is 12 mm. If the radius of 

curvature of the lower surface of the 

lens is 10 m, find the wavelength of 

light used. 4 

 iii) Find the width of interference fringes 

for Young’s double slit experiment. 6 

 iv) In Young’s double slit experiment, the 

ratio of intensities of two coherent 

light sources is n. Find out the ratio of 

the maximum and minimum 

intensities of the fringes. 4 
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b) i) What is equipotential surface ? Write 

down the characteristics of 

equipotential surface. 2 + 3 

 ii) Find the expression for field intensity 

at a point on the perpendicular 

bisector of a dipole. 6 

 iii) State Biot-Savart law regarding 

magnetic effect of current. Find the 

expression for magnetic field on the 

axis of a circular conductor. 3 + 6 

c) i) An e.m.f. of E is applied to a circuit 

consisting a resistance R and 

capacitor C in series. Calculate the 

growth of current in the circuit. 6 

 ii) What is watt-less current ? What is a 

choke ? 2 + 2 

 iii) Show that the mutual inductance of 
two solenoids M =  21 LL  ; where 1L

and 2L are the self-inductance of 

these two solenoids respectively. 6 

 iv) Show that  VVrms > , where rmsV  

and V  are the root mean square 

value and average value of a.c. 

voltage. 4 

d) i) Write down the postulates of 

Einstein’s photoelectric effect. 

Graphically express the Einstein’s 

photoelectric effect. 2 + 3 

 ii) Define stopping potential. Find out 

the de-Broglie wavelength of neutron 

at 127°C. Given, Boltzmann constant 

K = 1·38 × 10 23− JK 1−  ; Planck’s 

constant  h = 6·62 × 10 34− Js ; mass 

of neutron m = 1·66 × 10 27− kg. 

   2 + 3 
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 iii) Write down the difference between 

nuclear fusion and nuclear fission. 4 

 iv) Establish the velocity addition 

theorem in connection with special 

theory of relativity. 6 

2. Answer any three questions : 12 × 3 = 36 

a) i) Write down the Brewster’s law. Prove 

that the angle between reflected ray 

and refracted ray is 90°. 2 + 2 

 ii) What are the positive crystal and 

negative crystal ? 2 + 2 

 iii) What do you mean by polarisation of 

light and diffraction of light. 2 + 2 

b) i) What do you mean by capacitance of 

a capacitor ? Determine the 

expression of capacitance of a 

spherical capacitor whose inner 

sphere is earthed. 2 + 4 

 ii) State and explain Kirchhoff ’s current 

law and voltage law. 3 + 3 

c) i) Discuss the working principle and 

draw the characteristics of a common 

emitter n-p-n transistor with diagram 

and circuit. 6 + 4 

 ii) Simplify the following Boolean 

expression : 2 

   BBABA )( +++  

d) i) Prove the following Boolean 

expressions : 2 + 2 + 2 

  1. A ( A + B ) = A ; 

  2. 1=++ ABAAB  ; 

  3. BBABA =+++ . 

 ii) Write down the truth table for the 

following logic circuit. 2 

 

 iii) Write down the dimension of 

capacitance. The value of power factor 

of an LR circuit is  
2
1  . What will be 

the power factor if the frequency of 

a.c. increased by two times ? 1 + 3 
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e) i) Show that electron cannot remain 

inside the nucleus with the help of 

uncertainty principle. 6 

 ii) Explain Bohr’s theory of hydrogen 

atom. Write down the expression of 

wavelength of different series of line 

spectrum. 2 + 4 

f) i) Draw the characteristic curve of p-n 

junction diode for forward and reverse 

bias. 3 

 ii) Complete the following nuclear 

reactions : 3 

   ?PHeAl 30
15

4
2

27
13 +→+  

   ?OHeN 17
8

4
2

14
7 +→+  

 iii) Write down the drawbacks of 

Rutherford model. Draw wavelength 

vs intensity of X-ray spectra. 3 + 3 

3. Answer any four questions : 6 × 4 = 24 

a) What is de-Broglie wavelength of an 

electron having kinetic energy 100 eV ? 

Discuss the Bohr’s complementary 

principle. 3 + 3 

b) Derive classical or Galillean transformation 

of Newton’s laws of motion. 2 + 2 + 2 

c) How can photo-electric effect be explained 

in the light of Quantum theory ? 6 

d) How can you construct AND gate using 

NAND gates only ? Discuss the de-Broglie 

hypothesis. 3 + 3 

e) For an a.c. source  

 E = 220 sin ( 200 
4
π

−πt  ) volt. Find the 

frequency, peak value of voltage and r.m.s. 

value of voltage. 2 + 2 + 2 

f) What are the coherent sources of light ? 

What is the change in interference fringe of 

Young’s double slit experiment if a white 

light is used instead of the monochromatic 

light ? 2 + 4 
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g) What do you mean by half-life of a 

radioactive sample ? Establish the relation 

between half-life and decay constant of a 

radioactive sample. 2 + 4 

h) What is hysteresis ? Explain hysteresis loop 

of ferromagnetic substances. 2 + 4 
    


